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1 |dbiEE 2.1E+3 2,080.0
2 | EHFE 9.8E+2 982.5
3 |BFR 3.6E+2 356.8
4 |EHER 4.9E+2 4940
5 [FEE 8.5E+2 847.5
6 (LB 3.2E+2 318.0
7 |©EBE 5.5E+2 554.0
8 |ZHE 1.4E+3 1,384.1
9 |IHKE 1.4E+3 1,432.8
10 [BEER 2.3E+3 2,333.4
11 [BEE 1.3E+3 1,263.2
12 |FERE 1.5E+3 1,537.2
13 |EREAD
IR RIS 3.5E+0 35
15 |FiaE 1.4E+3 1,361.0
16 |EIE 1.0E+3 1,045.1
17 |BINE 6.8E+1 67.5
18 |f@HE 4.5E+2 450.0
19 [LLEE 1.2E+2 115.0
20 |REHE 6.4E+2 642.4
21 (KRR 5.0E+2 502.0
22 |ERRR 2.3E+2 234.0
23 |EHME 1.4E+3 1,448.4
24 |=ZER 1.0E+2 100.0
25 [#HER 6.7E+2 673.8
26 |FRABAT 8.2E+2 821.0
27 | KERFF 3.5E+1 345
28 |EER 2.7E+2 271.3
29 |ZRE 3.1E+1 30.5
30 [F0FRLIE 21E+2 2135
31 [EEWE 7.9E+1 79.0
32 |[BRE 6.5E+1 65.0
33 |EWE 2.9E+2 286.5
34 |[LBR 2.0E+3 1,954.5
35 [luAg 1.1E+2 110.0
36 [EER 2.7E+2 2723
37 |BIE 5.8E+1 58.0
38 |[BER 3.2E+2 321.7
39 [EHIR 4.2E+2 4195
40 [ERR 5.3E+2 531.3
4 [{EER 1.8E+1 17.5
42 |RigE 4.7E+2 467.0
43 |REXRE 2.6E+3 2,638.3
4 |KH R 2.1E+2 206.0
45 [EiHR 2.2E+3 2,209.0
46 |[ERER 3.1E+3 3,095.5
47 |HHER 5.0E+1 50.0

ESE 3.4E+4 34,378.1
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